
Class_____________  No.____________  Name______________________________________ 
 
Population numbers you can select are different among the land use. 
 » Forest     0,  10,  20,  50 
 » Farm      0,  10,  20,  50,  100,  200,  500 
 » Residense  0,  10,  20,  50,  100,  200,  500,  1000,  2000,  5000,  10000  
Sewage treatment plant can be set only in residence area. 
 
Environment around River 1 

Area Land use Sewage palnt  Population 
Up stream Forest   Farm   Residense Present   Absent  
Up middle Forest   Farm   Residense Present   Absent  
Middle stream Forest   Farm   Residense Present   Absent  
Down middle Forest   Farm   Residense Present   Absent  
Down stream Forest   Farm   Residense Present   Absent   
Season  Spring    Summer    Fall (Autumn)    Winter    
 
Result of SimRver practice 1 
Area Number of 

species 
Ratio of three categories Saprobic 

Index 
Water 
quality 

Up stream  A:      B:      C:      (%)   
Up middle  A:      B:      C:      (%)   
Middle stream  A:      B:      C:      (%)   
Down middle  A:      B:      C:      (%)   
Down stream  A:      B:      C:      (%)   

 

Environment around River 2 

Area Land use Sewage palnt  Population 
Up stream Forest   Farm   Residense Present   Absent  
Up middle Forest   Farm   Residense Present   Absent  
Middle stream Forest   Farm   Residense Present   Absent  
Down middle Forest   Farm   Residense Present   Absent  
Down stream Forest   Farm   Residense Present   Absent   
Season  Spring    Summer    Fall (Autumn)    Winter    
 
Result of SimRver practice 2 
Area Number of 

species 
Ratio of three categories Saprobic 

Index 
Water 
quality 

Up stream  A:      B:      C:      (%)   
Up middle  A:      B:      C:      (%)   
Middle stream  A:      B:      C:      (%)   
Down middle  A:      B:      C:      (%)   
Down stream  A:      B:      C:      (%)   
 


